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log () LABJNDuUS triangle lightnesst*
t* h=Yw - nc=100,

t*LAgINDus =IN(A 17 +A2Y)(A2rAon) - (Yad/100<Y<=Y,o)
L ABINDUS =IN(A 1+ A2)/(A2Aon)  (X=YTYy)
1 (3,6)=219 " ,(18)=498 t* (90)=776

log[t*/t* ,]=0, m,=0,33
L* =49, t* =492
® 1
to0=775,82, Ay=1 01 Ay =0,1044, ¢=1,00

th15=4¢8,34, A =0 M7, A=0,0058

tr36=219,17 t* =4 8:34 Y=18 : ?al\ar%lganon

LABJINDu5
tristimulus value difference
Yoe=Yw - nc=100,

L ABINDUs =IN(A 17 +AZNY)(A2rAon) - (Yad/100<Y<=Y,o)
1 AgINDUs =IN(A 10+ A2X)(A2iAon) - (X=YTY)
dY:AOn(A1n+A2nY):A0n(A1n+A2uX) XZY/Yu
Aonpss=L5, Aona=1,0, see CIE 230:2019

.
="
logffM=0.42 =L;8% AZU:Q.Q&M: =100 = = m =
dY;g=0.12, A 0,013 #=0,00§8  application
d¥3,670,05 Y,=1d, 8Y=0,12 ' 9
=
xN=0,2 Xw=5

log AY/Y) LABJINDUS
_ tristimulus value sensitivity
SEERY) Yoc=Yw © nc=100
L AgINDUs =IN(A 17 +AZNY)(A2rAon) - (Yad/100<Y<=Y,o)
1 AgINDus =IN(A 10t A2X)(A2iAon) - (X=YTYy)
AY/Y=Agn(A1+Aa)Y=Aon(ArntAsX)Y
(AY/Yp=b,705Y, 72,2, Ay =0,1044, ¢=1,00
(dY/Y)g=0,00c7 A=0,017, A,=0,0058
(dY/Y} =0,0108 Y,=il, 2V-0 12

-~
~ - =
log(dY/Y)=-2,17 m,=-0,%a application
gdY/Y) my % u gy idoe
t*,=498 dY,=0,12 dY,/Y,=0,0067 1
1

ot
xN=0,2 Xw=5

log (Y/AY) LABJNDU5
- tristimulus value contrast
SN Yoc=Yw  nc=100

L AgINDUs =IN(A 17 A2 Y)(A2rAon)  (Yad/100<Y<=Y,o)
tLaBINDUs =IN(A 10t A2 )/ (AoAon)  (X=YTY)
YIAY=Y/[A on(A1ntAnI=X Y /[Aon(A1ntAzuX)]
(Y/dY}5=166,97, Ay=1,0, Ay, =0,1044, ¢=1,00
(Y/dY)g=148,27, A=0,017, A4,=0,0058
. (_Y/thg_95,03 vJ:lS,EI =0,12
=498 09,018 WvE Ly

application
range

log (t*/t* ) LABJNDUS relative triangle lightnesst*/t*,

e, h=Yw - -nc=100,

tLagaNDus =IN(A1n+A2Y)(A2rAgn) - (Yad100<Y<=Yyo)
1 ABINDUS=IN(A 17+ A2)/(A2yA0n)  (X=Y/YY)
t(3,6)=219 " ,(18)=498 *,(90)=776

t*og/t* =1,55, Ayr=1,0, A, =0,1044, ¢=1,00

t*1g/t* =1,00, A1=0,017, 40,0058

t*3,9t*,=0,43,t4,=498,34 =18

log[t*/t* J=0, m,;=0,33
1 application
f range
%=1

LABJNDUS relative
tristimulus value difference
AN/N Yoc=Yw =100,

t*LaBINDUS =IN(A 1n+A2nY)/(AorAon)  (Ynd/100<Y<=Y, ()
t* 1 ABINDUS=IN(A 1AL (A Ao (X=YTY)
AY/dY =(AqntA2X)(A1ntAgy)
dYo/dY,=4,43, Ay=1,0, Ay =0,1044, ¢=1,00
dY;g/dY,=1,00, A ,=0,017, A=0,0058
dY3 ¢dY,=0,31, Y,=18, dY=7,12 4

t*,=498 d 12 dY,,/‘:u_:(l '_1_06_7"‘

log(AY/AY,)

application
nge

=1
Xw=5

CED50-4A
log [(AY/Y) | (AYIY),] LABJNDUS relative
tistimulus value sensitivity

SISu=@YMIAYN) v =y, =100

nc

tLaBaNDus =IN(A 1+ A Y)(A2rAgn)  (Yad100<Y<=Yyo)
t*LaganDus =IN(A 1t A2 (A2iAon) - (X=Y7Yy)
@YYV, =IA 10t AaX)/Xull (A 1n+Agy)
(@YIY)o(dY/Y)-1.88, Ay=1,0, Ay, =0,1044, ¢=1,00
(dY/Y)g/(dY/Y)=1.00, A =0 017, £4,=0,0058
(AY/YY g(dYIV)=1 55 V=18, d=0.12
v

log[(dY/Y(dY/Y),]=0, mu=—0,13. 5 o
t*,=498 dY,=0,12 dY,/Y,=0,0067 ?g’,ﬁ’é‘ga"m
Ix,=1
Xn=0,2 Xw=5

CED50-6A
log [(Y/AY) I (YIAY),] LABJINDUS relative
tistimulus value contrast

ColCy = (YY), v 2y 2 2160

nc

tLagaNDus =IN(A 1+ ALY (A2rAgn)  (Yad100<Y<=Yyo)

tLagaNDus =IN(A 1t A2 X) (A2iAon) - (X=Y1Yy)

(YRYY(YIAY) =X /(A1ntAz ) (A 1n+A2,)
(YIAYhg/(Y/dY)=1,12, Ay=1,0, Ay=0,1044, G=1,00
(Y/dY)g/(Y/dY)=1,00, A=0,017, /5,~0,0058
(YIdYy g (Y/dY)=0,64 Y,~18, d=0.12

log[(Y/dY)(Y/dY),]=0, m=0,13

application
range

log (T*) LABJNDuUS triangle lightness T*
Y,

T+ he"L*w - nc=100,

T*LABINDUS=IN(A 10+ A2nY)/(A2nAon)  (Ynd/100<Y<=Y,o)
T*LaganDus=IN(A 10t A2 X)/ (A2iAon) - (X=YIY,)
T+ (3,6)=219,T* (18)=498,T* (90)=776
log[T*/T* ]=0, m,=0,33
L* =49, T* =498
ol 1
*90=775,82, £y 13, Ay =0,10¢4, ¢=1,00
TH=498.34, /1, 0 917, 4,=0,G058
T*3219,17,1% 4 18,34 Y181
1
L =1
2n=0.2  "xy=5

application
range

CED51-1A

log(AY) LABJINDUS
AY tristimulus value difference
Y=L w nc=100,
T*LABINDUS=IN(A 10+ A2nY)/(A2nAon)  (Yd/100<Y<=Y,o)
T*LABINDUS=IN(A 1+ A2)/(A2uAon) - (X=YTYy)
dY:AOn(A1n+A2nY):A0n(A1n+A2uX) X:YIYU
Aono65=1,5, Aon a=1,0, see CIE 230:2019
3
X *
T%,=498 dY,20,12 dY,/Y,=0,00F" o
— o
OIR=B23 RO 1, - dhth ¢=1,00 = = = =
dY1570,12, A=0. - 4;=0,008  apRlication
dY36=0,03 =16, 8Y=0,12 9

XN=0,2
CED51-3A
log AY/Y) LABJINDUS
_ tristimulus value sensitivity

SEERY) Yoc=L*w -~ nc=100
T*LABINDUS=IN(A 17+ A2nY)/(A2nAon)  (Yd/100<Y<=Yno)
T*LaBINDUS=IN(A 1+t A2)/(A2Aon) - (X=YTYy)
AY/Y=Agn(A 1+ Aa)Y=Aon(ArntAsX)Y

(dY/Y}=0,0059, Ay=1,0, Ay =0,1044, ¢=1,00

(dY/Y)g=0,0057, A=0,017, A,=0,0058

(dY/Y} =0,0105 =18, dY=0,12

S
< =
log(dY/Y)=—-2,17, m,=—0, 1 application
ag( ¥ my e o iApge
T*,=498 dY,=0,12 dY,/Y,=0,00671
1

ot
XN=0,2 Xw=5

CED51-5A
log (Y/AY) LABJINDu5
_ tristimulus value contrast
SN Yoe=L*w -~ nc=100
T*LABINDUS=IN(A 17+ A2nY)/(A2nAon)  (Yd/100<Y<=Y,o)
T*LaBINDUS=IN(A 17+ A20)/(A2Aon) - (X=YTYy)
YIAY=Y/[A on(A1ntAn)IEX Y/ [Aon(A1ntAzuX)]
(Y/dY)=166,97, Ay=1,0, Ay=0,1044, ¢=1,00
(Y/dY)g=148.27, A =0,017, A4,=0,0058
(Y/dY} =95,03 Y,=18 d¥=0,12
T+,=498 4Y,=0,12 ¥,/dY,=148
-

log(Y/dY)=2,17, m,=0,13 +."
-

-
1

1

1 application
1 range
1%,=1

Pw=5

CED51-7A

CED51-7N

log (T*/T* ) LA?JL\IDUS relétive triangle lightness T*/T*

THT*, Yoc=L* w nc=100,

T*LABINDUS =IN(A 1ntA2nY)/(AnAon)  (Ynd/100<Y<=Yoo)
T*LaganDus =IN(A 10tA2X)/ (A2iAon) - (X=Y1Yy)
TN (3:6)=219.T* ,(18)=498,T*,(90)=776
Ty T*,=L,55, Ay=1,0, Ay, =0,1044, ¢=1,00
T4,g/T*,=1,00, A =0,017, £,~0,0058
T3, T#,=0,43,T4=498,34 (=18

log[T*/T*,]=0, m,;=0,33
1 application
f range
%=1

CED51-2A

log(AY/AY,) LABJINDUS relative

tristimulus value difference
NN YomL*yy - =100,

T*LABINDUS =IN(A 1n+A2nY)/(A2nAon)  (Ynd/100<Y<=Yoo)

T*LABINDUS =IN(A 1ntA2) (A2 Pon)  (X=YTYy)

dY/dY =(A1+A X (A1 +AY)
dYoy/dY,=4,43, Ay=1,0, Ay=0,1044, ¢=1,00
dY,g/dY,=1,00, A=0,017, £,~0,0058
dYs,gdY,=0,31 Y, =18, dY=0,12 +

/.

CEDS51-4A
log [(AY/Y) | (AYIY),] LABJNDUS relative
tistimulus value sensitivity

SISu=@YMIAYN)y v =%\, =100,

nc’
T*LABINDUS =IN(A 1n+A2nY)/(A2nAon)  (Ynd/100<Y<=Yoo)
T*LABINDUS =IN(A 1ntA2) (A2 Pon)  (X=YTYy)
(dY/YY(AYIYV)=[(A 1+ A )X (A 17+A20)
(@Y/Y)o(dY/Y}=0,88, Ay=1,0, Ay, =0,1044, ¢=1,00
dY/7Y)g/(dY/Y)=s 20, A=0,017, A=0,0058

s
T
log[(dY/YY(dY/Y),]=0, m/=-0,13 .
T+,=498 dY,=0,12 dY,/Y,=0,0067, ?gﬁé‘gaﬂon
Ix=1
XNn=0,2 Xw=5

CED51-6A
log [(Y/AY) I (YIAY),] LABJINDUS relative
tistimulus value contrast

CrlCru=(YIAI(YIAY), v 21, > 2100,

nc
T*LABINDUS =IN(A 1n+A2nY)/(A2nAon)  (Ynd/100<Y<=Yoo)
T*LABINDUS =IN(A 1ntA2) (A2 Pon)  (X=YTYy)
(YRYY(YIAY)=[X/(A1n+Az ) (A 1n+A20)
(YIAYhg/(Y/dY)=1,12, Ay=1,0, Ay=0,1044, G=1,00
(Y/dY)g/(Y/dY)=1,00, A=0,017, /5,=0,0058
(YIdYy g (Y/dY)=0,64 Y,~18, d=0.12

log[(Y/dY)(Y/dY),]=0, m=0,13

application
range

CED51-8A

TUB-test chart CED5; LABINDUS*(Y) & T*(Y), Yn&=(Y&L*) wrcBne &x=1,00, with more data
Absolute and relative lightness, sensitivity and contragt=2A5, A1n=0,017, A,=0,0058, A,=0,10
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